B VCE & PDF https://lwww.geekcert.com/1y0-401.html
' 2024 Latest geekcert 1Y0-401 PDF and VCE dumps Download
: GeekCert.com

1Y0-4019%As

Designing Citrix XenDesktop 7.6 Solutions

Pass Citrix 1Y0-401 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/1y0-401.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Citrix
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

1Y0-401 Practice Test | 1Y0-401 Exam Questions | 1Y0-401 Braindumps 1/3


https://www.geekcert.com/1y0-401.html
https://www.geekcert.com/1y0-401.html
https://www.geekcert.com/1y0-401.html

VCE & PDF https://www.geekcert.com/1y0-401.html
2024 Latest geekcert 1Y0-401 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

How should the architect design the optimal write cache storage?
A. By implementing RAID 5 on XenServer local storage

B. By implementing RAID 10 on XenServer shared storage

C. By implementing RAID 3 on a NAS device

D. By implementing RAID 6 on a server hosting the CIFS share

Correct Answer: B

QUESTION 2

Why is a design with 12 NetScaler appliances, in which each datacenter deploys three NetScaler virtual servers
configured with the subnets of the three sites and binded to redirection policies that are configured in ICA Proxy mode
using StoreFront server, the best remote access design?

A. It allows end users to connect to their primary datacenter through a secure, reliable, and cost-effective solution.

B. It provides redundancy, while optimizing external WAN traffic.

C. It segments the Gateway and load-balancing features of the NetScaler appliances.

D. It allows for the expected expansion of remote access usage and provides SSL VPN functionality for

future needs.

Correct Answer: B

QUESTION 3

Why is a design with 12 NetScaler appliances, in which each datacenter deploys six NetScaler virtual servers in HA
pairs, configured with the subnets of the three sites and binded to redirection policies that are configured in ICA Proxy
mode using StoreFront, the best remote access design?

A. It allows end users to connect to their primary datacenter through a secure, reliable, and cost-effective solution.

B. It provides redundancy, while optimizing external WAN traffic.

C. It segments the Gateway and load-balancing features of the NetScaler appliances.

D. It allows for the expected expansion of remote access usage and provides SSL VPN functionality for future needs.

Correct Answer: C

QUESTION 4
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Why would the architect choose active-passive bonding when configuring network interfaces for storage networks?

A. It provides load balancing of VM traffic across multiple physical NIC interfaces at a per guest basis, and offers
improved distribution of traffic across physical interfaces in the bond.

B. It sends all guest VM traffic in the bond to an active interface, which provides the best distribution of network load.
C. It uses a hashing algorithm, which provides better distribution of traffic across the interfaces in the bond.

D. It uses a round robin load-balancing policy, which provides better distribution of traffic across the interfaces in the
bond.

Correct Answer: B

QUESTION 5
How should the components be set up for this environment?

A. Configure NetScaler high availability pair. Place the StoreFront servers and Delivery Controllers in the internal
network.

B. Configure NetScaler cluster. Place the StoreFront servers and Delivery Controllers in the internal network.

C. Configure NetScaler high availability pair. Place the StoreFront servers in the DMZ and the Delivery Controllers in the
internal network.

D. Configure NetScaler cluster. Place the StoreFront servers in the DMZ and the Delivery Controllers in
the internal network.

Correct Answer: A
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